
uU;?kp :5<D?ET� '?5_Z� @;Q\ ?<0 oj� ,� ��

:s?EUnA�  �xcUp1*

1-:jQW *?I;?A��� :c<B^ aA?tp , - �,?X4 �?k<kLD R4Qp �?;�?ET� �*+,96/=>+83@C+299.-97

�����

 :5;R<g "�xM r<<cD ?<0 CwH?v r<W?p :K�Q^ ��R<wID ,, -OtA uH�� � *�Q4�?Bs� �+Otv� (?kEs�vOt;�Qg Q;?T -? -�,Q\ *�

CT� .:5;R<g "�xM r;� unqH  ��OW?A :p :5<D?ET� '?5_Z� @;Q\ . :5;R<g "�xM -,�QA ucm?_p ?<0 (?K uA ?D, +�xA �,OLp

 ����xp :s�Q;� )?j�� r;QEq4  ?<0k<kLD�?CT� +OW )?Is�.?v V;?p � -�QA,� ?<0 #xs)   O$s��xv , Qw$W��� R$pQj (   J_$T u$T��

 + �Os�)p �31x4/�RA , ]TxE ( -,� QAuT J_T #xs , �x1 �3<ETz0 +R<s�xm?7 rv�, ?A )�O4QvCU<A ��Q5D   ?$v +��� R<m?$s� ,

 )?Is� :g�?[D zp?4 �Q^ u;?0 QA l;�xE4?g *xp �  � +�?hET� ?AOW . G;?Es u4 ��� *?Xs :5<D?ET� '?5_Z� @;Q\   o$j� ,� Q$v  ?$A

 V;�Rg�, uEg?; V;�Rg� + �Os�xv oj� -�QA Os��     � f$nENp -?$v St$H ?A �x_T -,� QA319/0  ?$D565/0    Qw$W��� o$j� -�Q$A ,

 �344/0 ?D473/0OA?; :p Q<<eD .�xA Os��xv oj�  � QEX<A QwW��� oj�  ?<0 :5<D?ET� '?5_Z� @;Q\. r<t2qv    G;?$Es u$U;?kp ?$A

 :5<D?ET� '?5_Z� @;Q\ u4 OW YNXp oj� ,� Qv J_T -,� QA -,� , r;QEq4 �x1    + �O$s�  � Q$<d u$A +R<s�xm?7 rv� J_T

�xA r;QEX<A oj� ,� /�RA -?v.


���
 
�! ���	�+ �Os�� ?<0 �:5;R<g "�xM � �:5<D?ET� '?5_Z� @;Q\

 ����

 :qnb )?s ?A :4��xM  ?<0A663?7 -/:+,  .CT� *�Q;� �� owp �yx[Lp  � :5; .  u$A *�Q;� �� *� O<mxD , CX4Q;  J_T

  @<DQD5068 , �?E5v09/1849275   C$X4Q;  J_$T Q`s  � :jQW *?I;?A��� *?ET� owT u4 +OW ��,�QA rD6407   � , �?$E5v

 O<mxD *�R<p Q`s94/277927OW?A :p rD .

   C$hs �,O$Z uA :8EUA�,  � *OW ?v� , �xX4 -�QA  �� �PH �x`tp uA :nZ� %�Ov�  � :5; - �,?X4 �yx[Lp ����?Z

T�� r;� �� u4 �CT� ��OK� �-OtA uEUA �-OtA uH�� �*�Q4�xH �- ?T �OH �-�,�Qg , (?kEs� r<K (x[Lp �?c;?\  � -Q<7xnH ?E

   O$W?A :$p :5<s?$5p , :5;R<g "�xM  � QF?Ep :8qv u4 Os����xMQA :Z?M C<qv� �  ?<0 :v� �xv , -��Ow8s -?v�?Bs� , ?vxn<T .

 o<t4 �O<0 CT� -OZ?kp r<t1 uA o<s�xEA u5t;� -�QA-.xmxt5D  � +�?hET� - �,?X4 (x[Lp Qv -�QA :BT?tp CW��QA  � S0 -?v

CT� ) y .aqH -�QA :5<s?5p , :5;R<g "�xM ucm?_p+��� u<wD , -�,�      , Qw$W��� R$pQj -?$v o$j�  ?$<0 -�QA u;?0 , u<m,� -?v

-٣٣٤٢-



r<W?p CM?T , :K�Q^ CwH Os��xv 4�x$H -?v r<W?p unqH  � CW��QA  � S0 Ot;�Qg -?v     uE$UA , :v��x$v �-O$tA u$H�� �*�Q

OtEUv :D?<K (x[Lp -OtA . .OW?A :p :5<D?ET� '?5_Z� @;Q\ , -Q<7��Qj u;,�  :5;R<g "�xM r;� unqH  �.  -,�Q$A ucm?_p

, :5;R<g "�xM :5<s?5p ?<0 (?K uA ?D, +�xA �,OLp ����xpCT� +OXs )?Is� :k<kLD :s�Q;� )?j��.

 r<<cD , :T�QA ��xp ��      �,?$hEp �x_$T -,� Q$A - �,?$X4 f$nENp �yx$[Lp :5<p?t;� , :5<D?ET� '?5_Z� @;Q\

 -�OcEp �?k<kLDu4 CT� +OW )?Is�  � unqH ?ws� ���xp uA Q; �Q4 +�?W� *�xD :p:

E6- %+3/ /> +6 1998 ��x1 �Rng fnENp J_T VW -,� QA �� -Q[p !QDxq<m , (?kDQ0 fnENp )?j�� '?5_Z� @;Q\

\ l<ET�Os�Q4 ��,�QA 3<ETz0 , QB<g �+R<s�xm?7 �6s O . @<DQD uA '?5_Z� @;Q\ ��Okp u4 OtEg?;�� ?ws�193/0 ?D332/0  -�Q$A

 , (?kDQ0 )?j��231/0 ?D331/0�xA &xg J_T VW -,� QA -Q[p oj� !QDxq<m -�QA .

B+28+=+AC /> +6 2004 O<hT -Q[p  ?<0 oj� uT :5<s?5p , :5;R<g "�xM(G3D+6) RpQj �(B/2/<3) ��  ,(G3D+

20)Os�Q4 :T�QA �� . r<A :B_j Q_j )?j�� :p?qD -�QA u4 Os�xqs !��R7 ?ws�12/5 ?D20/6     Q$_j r<8s?$<p ?$ws� ��x$A QEp :Es?T

 +�,OLp �� @<DQD uA )?j�� uqv -�QA �� �)QH , a_kp J_T �l4 J_T �:A?UK Q_j r<8s?<p �:TOtv48/5 ?D98/5  �Q$Ep :Es?$T

50/5 ?D01/6 �QEp :Es?T3/23 ?D81/28 �aAQp QEp :Es?T96/23 ?D52/29 , aAQp QEp :Es?T7/78 ?D3/115 Os�Q4 !��R7 )Q7

 +�,OLp �� oIK ,2/77 ?D8/108  � :m?81 �@c5pQEp :Es?T04/1 ?D11/1  r<$A Cnd u;,�  @c5p QEp :Es?T QA )Q720  ?$D31

Q<7��Qj C<cjxp Cm?K �� uH��  � , ��O;?0 -14 ?D23   -,� Q$A :5<D?E$T� '?5_Z� @;Q\ ���O;?0?s -Q<7��Qj C<cjxp -�QA uH��

  � +R<s�xm?7 rv� , �x1 �3<ETz0 J_T uT67/0 ?D34/1  � CU5W -,Q<s �4/341 ?D7/980    � �x$hs -,Q$<s , rDx<s1/26  ?$D

5/45O;�Q7 )zb� ?ws� ]TxD rDx<s .

 :nZ� %Ov�;kLD r< i :T�QA, :5<D?ET� '?5_Z� @;Q\+�?hET� ��xp J_T StH :5<D?ET� '?5_Z� @;Q\QA,�

 oj�Os��xv , QwW��� RpQj  ?<0OW?A :p ?ws� uU;?kp ,.

�"�	� 	 ��#��

 :T�QA �x`tp uA?kp ,;D?ET� '?5_Z� @;Q\ uU< :5;  � :5 :$5;Q<g "�xM�,�  #x$s0 $<  , Qw$W��� R$pQj  ?  O$s��xv  �

 *?ETQwW Os��xv , QwW��� -?vO;�Q7 u<wD .0< ?  � +�?hET� ?A :g?\� ��xp - ?T �OH, *OW R<qD  � S0 ?v�xkp *xnA?W;  u$T uA :

  � QE51x4  + �Os�40p<A �QEp :n< r40 ?D70p<n:  � QD /�RA , QEp70p<:n QEpOsOW �OH.

,� !,�  � +�?hET� ?A )��?A -?v Rep u<m,� CAx^�OW r<<cD * .

 :5<D?ET� '?5_Z� @;Q\ r<<cD -�QAEv?8ET� � +�?hET� ?A:       -?$v @<$W  -�Q$A o<$`tD l$A?j uLh$Z 3; -���� u4

OW +�?hET� �xA fnENp)l5W1( lqb r;�, -�QA,� #xs ?<0 /�RA , ]TxEp �31x4 + �Os� uT �� )�O4Qv Os��xv , QwW��� RpQj

, ?A )�O4QvA< CUOW )?Is� ��Q5D . , uEgQ7 ��Qj J_T -,�QA ?v usxqs u4 �xA ��xZ r;� uA lqb +xLs  $`tD l$A?j uLhZ<  u$A o

-٣٣٤٣-



�OD;:kg� Cm?K  � G;,�  :tc;W ��xZ uA uH�� QhZ u<@ , +Op��� ��� u;,�        ?$D � C$g?; V;�R$g�  G;�O$D u$A o<$`tD lA?j uLhZ

 ?v usxqs u4 :;?Is� * , uBnd QF� ��0< ?s QA ?v< '?5_Z� -,Q C4QK uA #,QW)!QT(   u$;,�  u$`Lm *��� Os�Q4F  l$W� -,�  �

O;� :p CTOA :5<D?ET� '?5_Z� @;Q\Q;  9_A�� �, +OW C>�Qj ��Op.

E= =>1 F

 *���  u4

E=  = :5<D?ET� '?5_Z� @;Q\F = @<W u;,� )uH��(

 l5W1G:5<D?ET� '?5_Z� @;Q\ r<<cD +?8ET�

��� 	 ������

 +OW r<<cD :5<D?ET� '?5_Z� @;�Q\ y?A V;?p � !,�  � ��(,�OH1 ,2CT� +Op�.  G;?$Es  u$4 ��� *?$Xs   '?5_$Z� @;Q$\

 :5<D?ET� -�QA, uEg?; V;�Rg� + �Os� V;�Rg� ?A oj� ,� Qv   � f$nENp -?v StH ?A �x_T -,� QA Os��xv oj�319/0  ?$D565/0 ,

 � QwW��� oj� -�QA344/0 ?D473/0OA?; :p Q<<eD .�xA Os��xv oj�  � QEX<A QwW��� oj�  ?<0 :5<D?ET� '?5_Z� @;Q\ .  r<$t2qv

 r;QEq4 �x1 J_T -,� QA oj� ,� Qv :5<D?ET� '?5_Z� @;Q\ u4 OW YNXp G;?Es uU;?kp ?A    +R<s�xm?$7 r$v� J_$T -,� ,

�xA r;QEX<A .

-٣٣٤٤-



 �	��� - :5<D?ET� '?5_Z� @;�Q\Os��xv  ?<0fnENp -?v StH ?A �x_T -,�

 (,OH2 - :5<D?ET� '?5_Z� @;�Q\ QwW��� ?<0?A �x_T -,�fnENp -?v StH

J_T StH

�xT + �Os�

�x13<ETz0+R<s�xm?7 rv�

31x4319659/0345232/0370514/0

]TxEp392938/0436172/0467716/0

/�RA410525/0533188/0565903/0

J_T StH

�xT + �Os�

�x13<ETz0+R<s�xm?7 rv�

31x4344448/0347714/0359304/0

]TxEp373887/0382569/0432491/0

/�RA43212/0467922/0473018/0

-٣٣٤٥-



������

1-X4 up?s�?p� - �,?)1388 .( :b��  (?T86-1385    u$p?sQA �x$p� C$s,?cp �- �,?$X4�?wH ��� , �(,� OnH �  -R$;�

r<A , -�?[Ej��?bz^� -�,=tg , �?p� QEg� :nnqm�.

2-�xcUp �:s?EUnA� .Qg :;?B^?B^ �OqK� O<T �.1386 .  R$ep oj� uT :5<D?ET� '?5_Z� @;Q\ QA CAx^� *�R<p Q<F?D

)��?A .� Ss�Qht4 r<pxT    *x<$T�R<s?5p , - �,?$X4 -?$v r<$W?p :TOtwp :;xIXs� .    +O5$Xs�� � �Q<$W +?8$Xs��

- �,?X4  .

3- E6-%+3/, A. E. &., E6-&+2<313, A. F., !9=+, !. !. (1998). E8138//<381 0+->9<=

+00/->381 >2/ ./@/69:7/8> 90 1<+.381 7+-238/ 09< -3><?=. �8>/1<+>/. 69-+6

+8. 09<318 7+8?0+->?<381 90 +1<3-?6>?</. �8 E;?3:7/8> +8. 7+-238/<C 6>2

-980/</8-/ 90  !3=< =9-3/>C 90 A1<3-. E81. 21-22 #->9,/< 1998 (:: 79-90).

4- EA/3.+. !. �., !. &. #=7+8., A. !. #5+D, & !. ). A89?=. (1996). A::63-+>398

90 />2/:298 98 98398. 1. E00/-> 98 )3/6., )3/6. -97:98/8>= +8. ,?6,

-2+<+->/<3=>3-= +> 2+<@/=> +8. .?<381 =>9<+1/. A6-AD2+<�. A1<3-. %/=., 1, 467-476.

5-  9-?<>9,.G.�,*+53<9@.( 1997). &9C9,/+8 F<3->398  :<9:/<>3/=.��� A&AE :+:/<

"9.97-4108.

6- !+A, B. (., ). C. �?81, E. (. '9668/<, D. A. &73>>6/ & B. G. !?66383B (1996).

$2C=3-+6 +8. 7/-2+83-+6 :<9:/<>3/= 90 0</=2 +8. =>9</. =A//> 98398=. '<+8=.

A&AE, 39(2), 633-637.

7- !92=/838,".". 1996 . $2C=3-+6 :<9:/<>3/= 90  :6+8> +8. +837+6 7+>/<3+6=. "/A

C9<5 : G9<.98 +8. B</-2 =-3/8-/ :?,63=2/<=.

-٣٣٤٦-



����
��	�
��

� �
�		
�
�����
����
�

��
���
��
�

�����
��
��

!+=9?. *+,96/=>+83
1

1� A==3=>+8> $<90/==9<, E+=> AD+<,+C4+8 %/=/+<-2 -/8>/< 09< A1<3-?6>?</ & "+>?<+6 %/=9?<-/=

D+,96/=>+83@C+299.-97

#8398 :2C=3-+6 :<9:/<>3/= ./>/<738+>398 3= 8/-/==3>C 09< 7+=-238/= ./=318 +8.

><+8=3>398, =>9</, 1<+.381 0+-363>3/= +8. 9>2/< :<9-/==/=. #8/ 90 >2/=/ :<9:/<>3/= 3= =>+>3-

0<3->398 -9/03-3/8>. '2/ =>?.3/= 38 98398 :2C=3-+6 :<9:/<>3/= A+= 6373>/. +8. >2/</ 3= 6/==

=>?.3/= 98 �<+83+8 98398 @+<3/>3/=. '23= =>?.C A+= -98.?->/. 09< >A9 98398 @+<3/>3/=(

G2/<7/D-/-AD+<=2+2< +8. �9<+8.) 38 >2<// 6/@/6= 90 =3D/(=7+66, 7/.3?7 +8. ,31) 98

>2<// 6/@/6 90 =?<0+-/=( :6+=>3-, A99. +8. 1+6@+83D/. 3<98), A3>2 >A/8>C </:63-+>398=

?/=381 -97:6/>6  <+8.973D/. ./=318. '2/ </=?6>= =29A/. 38-</=/= 38 &>+>3- 0<3->398

-9/003-3/8> A3>2 38-</+=381 =3D/= 38 ,9>2 @+<3/>3/= +8. 3> A+= 0<97 0.319 >9 0.565 98

.30/</8> =?<0+-/= 09< "�9<+8." +8. 0<97 0.344 >9 0.473 09< "G2/<7/D-/-AD+<=2+2<".

A6=9 >2/ </=?6>= =29A  >2+> >2/ &>+>3- 0<3->398 -9/003-3/8> 90 "G2/<7/D-/ AD+<=2+2<"

A+= 79</ >2+8 "�9<+8.", +8. &>+>3- 0<3->398 -9/003-3/8> ,9>2 @+<3/>3/= A/</ 6/== 98 A99.

=?<0+-/ +8. 79</ 98 1+6@+83D/. 3<98 /B-/:> ,31 =3D/=.

�����
���: &3D/, 98398, :2C=3-+6 :<9:/<>3/=, &>+>3- 0<3->398 -9/003-3/8>

-٣٣٤٧-


